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91. Shifting of a door handle from the edge of 	91. atul.1g-NRt qicu 	 4; it9ft 	m--q-1 

the door towards the hinges makes it harder 	 3117-  	4 q“.11,l 1ull-F-4 	3TRTT 

to open the door because 	 4D s371.  (1411.-11 trpT t 4■clift 

(1) the friction at the hinges increases 

(2) the friction at the hinges decreases 

(3) the moment of the applied force is 
smaller 

(4) the moment of the applied force is 
larger 

92. Given below are 2 statements 

(a) From space, the sun appears white 

(b) From space, the sky appears blue 

1. statements (a) and (b) are correct 

2. statements (a) and (b) are incorrect 

3. statements (b) is correct and 
(a) is incorrect 

4. statements (a) is correct and (b) in-
correct 

93. A short sighted person has difficulty in 
focussing on distant objects 

(a) Since light rays are focussed in front of 
the retina 

(b) This defect can be corrected by using 
diverging lens 

(1) statements (a) is correct and 
(b) is incorrect 

(2) statements (a) and (b) are correct 

(3) statements (a) and (b) are incorrect 

(4) statements (a) is incorrect and 
(b) is correct 

94. The Greenhouse effect refers to a warming 
of the earth's atmosphere caused by the 
absorption of 

(1) Primary solar radiation 

(2) Secondary radiation emitted by the earth 

(3) Ozone 

(4) Water vapour 

(1) 1 EIT trivi 	.31141 t 

(2) uff 	.Y1Id1 t 

(3) cvliq 	 arpri 34-44irpc1 q1T 

6 dl g 

(4) ri 	 syl14 qiel Wri 	T 3TI-Errf altilcpd 

ATT.  6111 t I 

92. F.)H TP-slur ZZI-F 4 

(a) 3t e4-4-1' 	1-{t-W4 Rum g I 

(b) 3-i914-43- 	34T- Tql- 	 t 

1. Th-ZR" (a) 7-4 (b) q-141 +161 t I 

2. Th-RT9' (a) 7-4 (b) 	 +kid t I 

3. werq (b) tag) g 3t1-4-  TZT-q" (a) +loci tI 

4. Tzt9.  (a) tigi t 3t1T wQ-19-  (b) held gi 

93. 	44-tur 	qic.1 urWr  	qi<134 tR- 
urn-  4>ro q).-4-  	-d-9-1-t 6141 

(a) 4Eift LITPT 	N-4.-trff ffiT 	t'sq 3TIUT 

	

trr4 (Z -.1.-fi) Y, i-1141■-1    61i 	I t 

(b) $-41-  qla 	ar-q-d-Rr1N 	qqm #4frftq ft  -7r 
71. 	t 

(1) w4-9.  (a) 	 t 
(b) 	 t I 

(2) q1-1.  w4-9.  (a) AT (b) 4.1 t I 

(3) aril z1 (a) 3113-  (b) 	 t I 

(4) TZTff (a) +Rio 	3th- 
(b) t11 t I 

94. ufl4 614),H vf0:1r 	Ei 	r (41T-ism -rtt 
QqA 	r c.t>1.o,r 	 4 4 i 	amliqui 
6141 t ? 

(1) ARM (5i-rtlift) tilt 	,( uf 

(2) cp41.     itthzT (T1W1) 
idf~,(uI  

(3) 311719 

(4) srievgiti-i 



(1) 	 Gieni B ,31 411 

(2) iii 	 qc-mt C Q-1 +11 

(3) 	 ml("31 B cr•• C 	 

(4) q)l 	c4c,74 

95. For the given circuit, diagram if the bulb A is 
fused, then 

(1) only bulb B will glow 

(2) only bulb C will glow 

(3) both bulbs B and C will glow 

(4) none of the bulbs will glow  

95. 	, 117 111474 3-TIF ed A 7417 ffq EfF472T 

96. A man using the pulley system exerts a 200N 	96. 7'w ulf49-  ret armor  4 2 41ci 4fi 1ft 4 
force through a distance of 2m to lift a 600N 	200N wr 'a- • ci4tw 600N 3-irf wi• 0.5 4-ild,  
load to a height of 0.5m. The work effi- 	vii ffw a Aid, t I PT ter err ''t-  .coi 
ciency of the pulley ststem is 	 4mm t 

(1) 100% 
	

(2) 50% 
	

(1) 100% 	(2) 50% 

(3) 75% 
	

(4) 25% 
	

(3) 75% 	(4) 25% 

97. A car's distance time graph is shown below. 	97. t 	wiT 	 tIlLb 	-4-PTT 't I 3 
Between 3 and 5 minutes the car is 	 arm 5 fiT9z 	4.1q, 

(1) stationary 
	

(1) fiv-T gi 

(2) moving at constant speed 
	

(2) i41411•41 +Iii 4 "ticl tl t I 

(3) speed is decreasing 
	

(3) 4141 T1. 	 t 

(4) speeding up 
	

(4) AT 	Tft t 

     

distance 

(m) 

    

    

     

     

1 2 3 4 5 
	

1 2 3 4 5 

time (min) 

98. Which of the following can sound travel 	98. 	&I 4 4 	 4 c.,71'4 vt-qr 	Trwa ? 
through ? 

(a) solids (b) vaccum (c) liquids (d) gases 	 (a) alp Wet (b) iWqk (c) r (d) 	 

(1) a, b and c 	(2) b, c and d 
	

(1) a, b 	c 	• (2) b, c 7-4 d 

(3) a, c and d 	(4) a, b and d 
	

(3) a, c "Td• d 	(4) a, b 	d 



(2) 

Time Time 

(1) 
Velocity 

(2) A 

Velocity 

(.1 

(3) (4) (3) 
Velocity 

Time Time 

(1) Knitic energy 	(2) Knitic ener 

Velocity Velocity 

Velocity Velocity 

5 

99. Which of the following graphs shows 	99. 	4 cr)1.1 Tr ILO ti 411,1 3t11-  3-Tqe-4 	41 

uniform and non zero acceleration ? 	 21 	cH 	? 

100. Which of the following is used for storing 
electric charge? 

(1) Battery 	 (2) Capacitor 

(3) Switch 	 (4) Resistance 

101. The boiling paint of water inside a pressure 
cooker with weight is ? 

(1) 100°C 

(2) between 50° C and 100° C 

(3) below 50° C 

(4) above 100° C 

102. Velocity of a moving object is changing 
uniformly and the kinetic energy charges 
accordingly. Which of the following graph 
dipicts the correct relationship. 

100. 	 i'Arff N-4 f47.  &r 2T 

3-trarr itzu 	 t? 

(2) Ti -1 

(4) gi'd7iv.TT 

101. 	R. (Trita) 	3kr tri-41 	wr49-iT 

6)i 	i g 

(1) 100° C 

(2) 50° C 3Tlz 100° C 	 

(3) 50° C 4 	 

(4) 100° 4 arftrw 

102. « +if 111 4'4(1 T1 is-Tr ,H4-11-1 wzr 	‘414,r 
,k 	61 g T4:r- 	Trpo-  si,A1 1-tr  	g 
	4 Ort 4r 4rw,   	t? 

(3) Knitic energy 	(4) Knitic ener 

Velocity Velocity 

(Deo d,A1 

(3) Knitic energyi 	(4) Knitic energy 
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103. Combustion is a reaction in which a substance 
	

103. q6.-1 	3111{1TT 14 c 	11-74 f -"Zrr ct). 
reacts with : 

(1) Hydrogen 	(2) Nitrogen 
	 ( 1 ) 6 11.-1 	 (2) -,1 	019 

(3) Oxygen 	 (A* CLiorine 
	 (3) 3,ITTP179- 	 (4) ,ro1.T1-1 

104. Oxides of non-metals are : 	 104. 3TErrpff 

(1) Basic 	 (2) Acidic 
	 (1) 4,-Trftg 	 (2) 3pTitzr 

(3) Neutral 
	

(4) All of these 	 (3) 3q141-1 
	

(4) 3-cr-d-wr 741 

105. Galvanization is process in which deposition is 	105. 3  eici chiul 	AfttrT NTI1,  1 T--gT 6 	cl I 

done of : 

(1) Iron on copper articles 

(2) Zinc on copper atricles 

(3) Zinc on iron articles 

(4) None of these 

106. Acid rain is caused by the oxides of : 

(1) Sulphur and nitrogen 

(2) Sulphur and Carbon 

(3) Carbon and nitrogen 

(4) Phosphorous and Carbon 

107. The lowest temperature at which a substance 
catches fire is called its 

(1) Boiling point 

(2) Melting point 

(3) Ignition temperature 

(4) Critical temperature  

(1) ci 	61, q)14,( 	11-1-91i1 yr 

(2) 	co, chit-ft 	Tray-ti ITT 

(3) \Act), cil 	41 ITT 

(4) 3-cifiwt 	 

106. 3r to qq 	 61(1 g 

(1) 	 3fIT •wl•-1 

(2) tio-#+t 3tIT cot 	 

(3) q)i 	 AT' 	s)-kt 

(4) Lnit{r+ltti atIT cot 

107. 	 t:IT 	trqP_I34PT 4c5c11g 

108. Fullerenes are crystalline forms of : 	 108. `ifaltW     crwrr vt 

(1) Iron 	 (2) Aluminium 
	

(1) c.-1161 	(2) 	11-1144.44-1, 

(3) Potassium 
	

(4) Carbon 	 (3)tfirg-gi, 	(4) TT-4-q 
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109. The property of malleability is not shown by : 	109. 3111.1TdMhaT wr 	Clt-47 	 coat  

(1) Iron 	 (2) Graphite 
	

(1) M 	61 	(2) ftch-rTe 

(3) Aluminium 
	

(4) Silver 	 (3) 
	

(4) -Kik') 

110. Isobars have the same 

(1) Number of Valence electrons 

(2) Number of neutrons 

(3) Atomic number 

(4) Mass number  

	

110. Trmirfi-  dcq 	+H-11.-t 6 	di 

(1) 31--fizfiTT-d-r 

(2)  

(3) 31-1011-c 	T 

(4) wr Itarr (Tim .--c,“) 

111. The main constituent of biogas is 	 111. suta 4- wrlyszraratr-qt? 

(1) Methane 	 (2) Nitrogen 
	

(1) itz17 	(2) •-nK s3-1-1 

(3) Hydrogen 
	

(4) Acetylene 	 (3) 611,31,-t 	(4) ts Ditic-41-1 

112. For respiration deep sea divers use a mixture 	112. +I tm.s, +16-1 	2ut 41 	Wcir 	irt 	 3TTTFa79-  
of oxygen and 	 atiT 4+1 11+4 r rcfPr 	 g? 

(I) Nitrogen 
	

(2) Chlorine 	 (1) .-0.3-1-1 
	

(2) 	 

(3) Hydrogen 	(4) Helium 
	

(3) I 	 (4) glf*Fr 

113. Which metal liberates hydrogen on reaction 	113. 	A- 	cp Tfi- ate 4-1-R- 	fstrr ccp  
with an alkali? 	 dcLIV co.( 

(1) Cu 
	

(2) Mg 
	

(1) Cu 
	

(2) Mg 

(3) Al 
	

(4) Fe 
	

(3) Al 
	

(4) Fe 

114. Which fuel has maximum fuel efficiency? 
	

114. 	 tr.* 4 fat cprl tEER- 	a-TRTT 

(1) CNG 	(2) Hydrogen 
	

(1) 	7-q 	 (2) 61 	 

(3) Coal 	(4) Biogas 
	

(3) wIticil 	 (4) qici 	ti 

115. The growth regulator that retards ageing of 	115. " 	ii414-1q)" t*ft 	ct) vr-Z-zrr" 
plant organs is 	 sir Weal t I 	— 

(I) Auxin 	 ( 1 ) 31T*1-9" 

(2) Abscisic acid (ABA) 
	

(2) Q-114-1D-Ict) 3119-  (ABA) 

(3) Cytokinin 	 (3) 	 

(4) Gibberellins 
	

(4) 	 



116. Hens egg is 

(1) Unicellular 

(2) Female gamete 

(3) Haploid 

(4) All the above 

117. Which of the following are kharif crops ? 

(1) Paddy and mustard 

(2) Paddy and cotton 

(3) Mustard and gram 

(4) Cotton and mustard 

8 

116. PO wr3T T — 

(1) qq)vi cr, ,kicr,144 

118. Acid rain is formed from water vapour re- 	118. "aliTi util" ,31(1-qtul.  4-; 	1474*T7T2T i'-zrr 
acting with 	 cr)i4 	6141 gi 

(1) Coe  and So2 	 (1) Co2 	So2  

(2) So2  and Nitrogen oxide 	
(2) So2  3T/T No, 

(3) Co2  and Nitrogen oxide 	
(3) Co2  311-{ No23T- 

(4) Sulphuric acid 	
(4) Ho2SO4  (i1cAT1c 3T r) 

119. Which of the following contribute to the car- 
	119. 14.-i 	41.1 	-cist>" 	TrITT-T9-  	 tl 

bon cycle 
(1) 51-WM #11iiirr 

(1) Photosynthesis 

(2) Fossil fuel combustion 
	 (2) sificoTT trq 	Ael-11 

(3) Respiration 
	 (3) t-cTiil 

(4) All the above 
	 (4) 3E/4-49-  Tr4ft 

120. Hot spots are those area where 

(1) Endemic species is found 

(2) Minium biological diversity is observed 

(3) Climatic temparature is high 

(4) Maximum biological diversity is found  

120. "7 Err f4- " 	4b-  g .A61_ 

(1) mr-4=t4 s4AA,41 f c c g I 

(2) .-161 wzr-4-wIT 	kffra 	;11 	 t 

(3) JO sTreicuil-F7 -37-4 t I 

(4) „To aTftx--  1,1 aftw *P-qw 	A1c11 
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121. Which of the following enzyme acts efficiently 	121. 14if 4 4 0.-1 Tft q.-,31141 	AlTre 41T 
at pH 2.0 	 4 pH 2.0 	4)14 cfrtd1 t 

(1) Pepsin 	 (1) 41t1T4 

(2) Trypsin 	 (2) 1---ErNT9-  

(3) Insulin 	 (3) 

(4) All the above 	 (4) 374-4ff• Tr* 

122. Where is bile stored in the human body ? 	122. ++ 	jai 	qt.ilt i "Riff (bile) 4)61 lifiROilai I 

(1) Liver 	 (1) ,-aka 

(2) Gall bladder 	 (2) i)-cuqiEr 

(3) Spleen 	 (3) 

(4) Blood 	 (4) q1 

123. What are the components of DNA ? 	 123. DNA 	4)11-4 we4) 	? 

(1) Sugar, bases, proteins 	 (1) +1+1•(, 

(2) Sugar, phosphate, bases 	 (2) tom, rb-r4z-  3117 4-TR- 

(3) Phosphate, bases, polypeptides 	 (3) chi*Fd, 4-17 crd• 	Ltiwi 

(4) Polypeptides, proteins, sugar 	 (4) 1-1 	Ld1WI, 10-a-ff Cr 

124. Water absorbed by the roots from the soil 	124. As . 	.5H1 3T-141Ka• 	 iirt 	tr-41 sTileriff 
travels up the xylem elements into the leaves. 	 cici) viii 	34zr RaRT w.  MIT 4717-  NI:r Itl 
What is the name of the process by which 	 74-6 qm 	ff 	7642.,T-d-  %-ef 	.51(1 iauff 	t 
this water is released from the leaves through 	 6lai t I 
stomata 

(1) Condensation 
	 (1) timdd 

(2) Perspiration 
	 (2) um-47 

(3) Transpiration 	
(3) 77-4T-ffr 

(4) Exudation 
	 (4) l'4-#-4 

125. Name the process by which two bacteria 	125. 37 f4N-  wr 9-Fr --d-rF i 	,51(1 
exchange genetic information with each other 	11-tri7 TIqffT 	air 	 ctrl g : 
through a direct contact cell to cell : 

(1) Transformation 

(2) Transduction 

(3) Conjugation 

(4) Flagellation 
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126. The number 213144558 is divisible by : 126. err 213144558 fay 4 4 i 	r 	: 

(1) 	2, 3 and 	11 (1) 2, 3 AT 11 

(2) 3, 7 and 11 (2) 3, 7 AT 11 

(3) 2, 4 and 6 (3) 2, 4 30 6 

(4) 2, 3 and 7 (4) 2, 3 307 

127. The value of 
5 + 

 is equal to : 127. 5 	i:rt 6.1 411 	:  
6 

1 
, 

+ 	1 4 + 3 + 

6 + 
1+ ? 
	

1 4 + + 

(1) 	10/27 (1) 10/27 

(2) 277/37 (2)  277/37 

(3) 372/37 (3) 372/37 

(4) 307/37 (4) 307/37 

128. The value of 1 on 128. zi-F4 ■12—= 	1.4142, AT .16= 2.4495 

‘1I+42-- 1 

simplifying upto 3 decimal places, given 

 

= 1.4142, 	.16= 2.4495 is 	: 

(1) 0.166 (1) 0.166 

(2) 0.366 (2)  0.366 

(3)  0.466 (3) 0.466 

(4) 0.566 (4) 0.566 

129. If 22'—y = 32 	and 	22x  + y = 16 	then 129. 	 cA 22'Y = 32 	3-fiT 22N 
Y = 16 

x2 ± y2 is equal to : 2 	2 x + y : 4-111 	61+11 

(1) 	9 (1 ) 	9  

(2) 	10 (2) 10 

(3) 11 (3) 	11 

(4) 	13 (4) 	13 

130. The squares of two consecutive positive 130. q+1 1987 Trfti 	 
integers differ by 1987. What is the sum of 
these integers ? 

-t1 Tr 	441,11 Jlt 

(1) 	1986 	 (2) 3974 (1) 	1986 (2) 3974 

(3) 512 	 (4) 993 (3) 	512 (4) 993 



• The value of (1 — 

11 

x 2) (1 	x 	+1  3 ) 	(1 	x+11001 

x+1) (1 
	

x+2 ) (1 
	

x + 3 
	

(I 

x+1 (1  — 
T 4-Fq 	: 

x +1100) is equal to : 

(1) x + 
100 

(3) 	1  
100 

132. The average marks of students of a class is 
16.4. The average marks of boys in a class 
is 18.8 and that of girls is 14.6. The ratio of 
the number of girls to the number of boys in 
the class is : 

(1) 3 : 2 	 (2) 2 : 3 

(3) 4 : 3 	 (4) 3 : 4 

133. The ratio of milk and water in 66 litres of 
adulterated milk is 5 : 1. The quantity of water 
to be added in the mixture to make the ratio 
of milk and water 5 : 3 is : 

(1) 20 litres 	 (2) 22 litres 

(3) 24 litres 	 (4) 26 litres 

134. The salaries of A, B and C together amount 
to Rs. 333. They spend 80%, 85% and 75% 
of their respective salaries. If their savings 
are in the ratio 7 : 6 : 9, then their respective 
salaries are : 

	

132. 7T -4-Tr i1 ftcraml 	aTITrd ATWTT 16.4 t I 
	 Th-Tr i c,1 	3117Ta- PT7TTT- 18.8 t, 

	

eis14)41 	311-4ff ci-T -F-T 14.6 g 
w4-1-r if ci4til 	eiscol 	14).ki 39179- 
4 ? 

(1) 3 : 2 	 (2) 2 : 3 

(3) 4 : 3 	 (4) 3 : 4 

	

133. 66 dre-4-  1 iU 	 sT 	7 aTIT Err* Tr I-4371-  
S : 1 	39-9-ff 	gi 	RT3ToT 4 Walt TIT-1T 
4 trA. f4-o-rzrr 	atIT ETA- 	3T-frrff 

5 : 3 T1iw ? 

(1) 20 cfidt 	 (2) 22 ei 	 

(3) 24 cik 	 (4) 26 ri 	 

134. A, B 3T1T C 	M 31-7-4-* 333 To t I T6 371* 
31733 	Tr WI:PT: 80%, 85% 3t1T 75% 1i17T 

	

gi 	 q174c1 7 : 6 : 9 	3911-1ff 
t I d•-lct;) 3417-4* s"-TRT: 414 : 

(1) Rs. 102 , Rs. 118, Rs. 113 
	

(1) 102 To, 118 To, 113 To 

(2) Rs. 105, Rs. 120, Rs. 108 
	

(2) 105 To, 120 To, 108 To 

(3) Rs. 85, Rs. 125, Rs. 123 
	

(3) 85 To, 125 To, 123 To 

(4) Rs. 80, Rs. 120, Rs. 133 
	

(4) 80 To, 120 To, 133 



(1) Rs. 10,000 

(3) Rs. 15,000 

(2) Rs. 10,500 

(4) Rs. 18,000 

(2) 36  

(4) 7112  

(1) 24  

(3) 58 

(2) 36  

(4) 712  

(1) 24  

(3) 58 

(2) 4 : 30 qi 

(4) 3 d. 30 g7 

12 

135. Out of 100 students, 50 fail in English and 
30 in Mathematics. If 12 students fail in both 
English and Mathematics, then the number 
of students passing both subjects is : 

(1) 26 	(2) 28 

(3) 30 	(4) 32 

136. The list price of a pen is Rs. 160. 
A customer buys it for Rs. 122.40 after two 
successive discounts. If the first discount is 
10% then second is : 

(1) 18% • 	(2) 17% 

(3) 16% 	(4) 15% 

137. If the list price of a book is reduced by 
Rs. 5, a person can buy 5 more books for 
Rs. 300. The original cost of the book is : 

(1) Rs. 15 	 (2) Rs. 20 

(3) Rs. 25 	 (4) Rs. 30 

138. A sum of money is kept in a bank at 
8% interest compounded anually. Had the 
interest been at 10% compounded semi 
annually the amount after 1 year would have 
been 225 more. What was the principal 
amount kept in the bank ? 

1 
139. Which of the numbers 2 4, 36, 58, 712  is the 

smallest ? 

135. 100 f-TarlW 4 4 50 gftt 4 atIT 30 +1 	Pia 
al-VW 61a gl 4.A 12 l'q-Erpal 	 394fitif 

1 g71Toi 	ff 	q1.-11 4 z-ittri g 	 
11-43m. g : 

(1) 26 (2) 28 

(3) 30 (4) 32 

136. Ntititff *-1q4.4 160 To t1 	Riff 
gl     * 41-4 122.40 Rio 

urfrq-d-r 	 10% a al quilt wgr 
61+n : 

(1) 18% 	(2) 17% 

(3) 16% 	(4) 15% 

137. Rw triw 	Qiict f4ufft-a- 	i 4 5 	"Era 
41- ,lifq RI 7T a114K1 300 To 4 5 rRr* 3d4T 
uitg-  *mot t1 tFr* 	f*Trita-  QTra- 	: 

(1) 15 To 	(2) 20 To 

(3) 25 To 	(4) 30 

138. crT Trf4i TI 8% gift gT 	T.4 StAl del 041,4 tr-4-  
4,4) 4 , q511 AM! g I iI 	10% 0 31IT WWI 
347114- T-1014cil 	7W +Ho 	4 225 
3T1 	rR15:11.T9. 1447, tvi tif4T 	aw 4 “A 

cur 6 	 ? 

(1) 10,000 (2) 10,500 

(3) 15,000 To (4) 18,000 To 

1 
139. TiRiEnNi 24, 36, 58, 712  4 4 kisiti lira 0941 

t? 

140. A thief steals a car at 1:30 p.m. and drives it at 
40 km per hour. The theft is discovered at 
2 p.m. and the owner sets off in another car at 
50 km per hour. When will he overtake the 
thief? 

140. ;rw 	 1:30 w31 r 4115 	g AT 40 T 071=to 
ui tiET 	7A 4 >arlral t  	Tar 2 w31  

tiddl 	atIr 	 wr R-rkw 	 71-41-  mil 4 
50 N•041. AftltdT 4)- 4111 4 tut.11 	Aim 14-6 

14),t1 	ticps ErrEl-Trr ? 

(1) 4 p.m. (2) 4 : 30 p.m. (1) 4 

(3) 3 : 30 p.m. (4) 3 p.m. (3) 3 : 



141. A boat goes downstream and covers a 
distance in 5 hours while the same distance 
upstream in 8 hours. The speed of the stream 
is 3 km per hour. The distance covered is : 

srw r-a 	warg3r 	\co ail 5 as 

azr w(cl 	trm 8lEk 	 warg 3 ito*-0 	 
t 9T4 .51 t 	Trt ve) 6-141-1 : 

(1) 90 km 
	

(2) 80 km 

(3) 85 km 
	

(4) 70 km 

142. If the radius of a cone is incresed by 100%, its 
volume is increased by' 

(1) 

(3) 

100% 

300% 

(2) 

(4) 

200% 

400% 

143. In the following  figure, BD : DC =1 : 1 and 
AF : FC = : 1, Through D, DE is drawn 
parallel to CA meeting  AB at E. Which of the 
following  statements is true ? 

(1) 90 folfto 	(2) 80 i*oifto 

(3) 85 i*oifto 	(4) 70 N.*. 

142. Erk qco 	qt N-wr 100% 	qty.; 	3i-Ict>1 

143. 	 3ITTN 4 	BD : DC =1 : 1 	Tar 
AF : FC = 1 : 1, it DE, 1-FT CA 
ITITrW 	l AB 	E f 	Eff f 	t I i•-1 
Ti 0-4Trr wuq Tr-r t ? 

(2) 200% 

(4) 400% 

(1) Quadrilateral AFDC is rectangle 
	

(1) w-147 AFDC 7w 3Titra• 

(2) Perimeter of 8DEF = a Perimeter of 
L ABC 

(3) Perimeter of 8 DEF = 2 Perimeter of 
8 ABC 

(4) Area of ADEF =i Area of AABC 

(2) £DEF 	1-4Di-u4 = 14  n ABC wr rft-sTrur 

(3) A DEF tft9T9. = 2 LABC r 1TP-FFT 

(4) 8DEF 	0-11:57 = 2 8ABC qrOltFm. 
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, 144. In the following figure, L ADC = 140° and 
	

144. 	 auTtd.  4 	Z. ADC = 140° t 3TIT 
AOB is diameter of 	the circle. 	AOB 19' Tr al I 	ti t I Ch 	L BAC Tr 4-1P-I 
Then L BAC is equal to : 	 6 : 

(1) 40° (2) 50° (1) 40° (2) 50° 

(3) 70° (4) 75° (3) 70° (4) 75° 

145. In the following figure, if AB is parallel to CD 	145. f),-.1 atrfid 4 AB 31.11-  CD +1411.-11r di g I ct) 

then measure of L AEC is : 
	

Z_ AEC 61+11 : 

A 
	

A 

C 

(1) 75° (2) 135° (1) 75° (2) 135° 

(3) 110° (4) 145° (3) 110° (4) 145° 

146. A site in Uttar Pradesh Where evidence of 
grain and bones of domesticated animals have 
been found : 

146. 3TH Waql.  W.  t 	P-119.  ■3167 I:1+AM tfT1 csirtiq 
,-11,1c1t1 	‘it.41 	 314T7 	 : 

(1) Mehrgarh 	(2) Koldihwa 	 ( 1  ) 14-P1T 	 (2) i 	Iqq6cti 

(3) Gufkral 	 (4) Paiyampalli 	 (3) '7-7 	 (4) Lnipiveril 

147. The term that means organization or 	147. 7w kr--  NTrwr 3 ti+10-1 3Pr1t 	: 
association : 

(1) Gana 	 (2) Janapada 	 (1) 77 	(2) s.1-1 i 

(3) Mahajanapada 	(4) Sangha 	 (3) 4161,1H4q 	(4) Ti-ET 

148. Ancient name of coastal Orissa : 	 148. ffel-zr utm5rm-Tq.  mTi 

(1) Pataliputra 	(2) Lumbini 
	

(1) trr-dv 
	

(2) qNt* 

(3) Kalinga 	 (4) Sarnath 
	

(3) 0'07 
	

(4) ill•t•-1124. 
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149. Word `Stupa' means : 

(1) Relic casket 

(2) Temple 

(3) Tower 

(4) Mound 

150. A Mughal emperor who succeeded to the 

149. 'Tv' qr• 	aTO 	: 

(1) wR*-e-  prq 	31-qi1Er T4.11 	dl] 

(2) r-fitT 

(3) dicH [ 	 

(4) 	 [Rit wi• 	 

150. 7T sic iii*itt) NA-4 1494 4 th-TIRT 
throne of Farghana in 1494 : 	 Th-TIM : 

(1) Humayun 	(2) Aurangzeb 

(3) Babar 	 (4) Akbar 

151. Who inspired 'Veda Samaj' ? 

(1) Singh Sabha movement 

(2) Prarthana Samaj 

(3) Ramakrishna Mission 

(4) Brahma Samaj 

152. The sea route to India was first discovered 
by : 

(1) Columbus in 1499 

(2) Marco Polo in 1492 

(3) Hiven Tsang in 1497 

(4) Vasco da Gama in 1498 

153. What is Farman ? 

(1) Royal edict 	(2) Royal army 

(3) Royal administration (4) Royal coinage 

154. The last Mughal emperor Bahadur Shah II 
was sentenced to life imprisonment after : 

(1) Battle of Buxar 

(2) Revolt of 1857 

(3) Battle of Plassey  

(1) virif 
	

(2) AtTriq 

(3)  	 (4) 

151. 	 slRo Wqr ? 

(1) 416 F4Tr 

(2) crmi-9-r 	 

(3) fli-icptui 

(4) siroi 

152. ITR7 	 u1-17 Tr-4-sram 	ct')I : 

(1) 1499' 	c.r) 

(2) 1492 4-11c0-1 tacril 4 

(3) 1497 it 	04 Triir 4 

(4) 1498 A' qrAD-1 	TrrAT 4 

153. ch-T3TT-4 qzrr 	? 

(1) gliji 3LTTUTI 	(2)itg-1 	 

(3) q116`) 	 (4) qiigl Uzi 	

154. 1 	 1:r2 	3 	r 	10 	 
urg II Ti arr-41-19. 	41.311 TFit Tit ? 

(1) Gici\i“ 	qc 

(2) 1857 wr 

(3) cr-o-41 

(4) Third Battle of Panipat 	 (4) uric 

155. When was the capital of British India shifted 	155. F it 1-1R7 4 wg cr>Q-1,4)-di 	ft-c,41,kirt,T711 
from Calcutta to Delhi ? 	 LIP 	q 	f4)til 717T ? 

(1) 1911 	 (2) 1912 	 (1) 1911 	 (2) 1912 

(3) 1908 	 (4) 1913 	 (3) 1908 	 (4) 1913 
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156. Who was the Chairman of the drafting 	156. WITra4 #P4t.T17 	Li 1 	 aitzgi 

committee of the Indian Constitution ? 	 cr)I.-1 4 ? 

(I) Dr. B. R. Ambedkar 
	

(1) 3To 41•0 am -0 3r s 

(2) Dr. Rajendra Prasad 
	

(2) io 	51-4:rrq 

(3) T. T. Krishnamachari 
	

(3) tho tho rumt-,41 

(4) Bhulabhai Desai 
	

(4) 1-1-a-n-Trt tiTrt 

157. From where did the Dandi March start ? 	157. et zrffr r An-Ti cr161 	3U ? 

(1) Sabarmati 	 (1) +ne.R4i 	it 

(2) Dandi 	 (2) eti 

(3) Rajkot 	 (3) 1 	tt) 

(4) Porbandar 	 (4) trIT---<{ 

158. In India, Manikaran (Himachal Pradesh) and 	158. 	=4 4-1 1 ct). 	1 (ice A -U) Tar tgrrErra 
Puga valley (Ladakh) are famous for which 	 (9-M 	 w n 	ni ra1n 	iselq Aft  
type of energy source ? 	 g ? 

(1) Geothermal energy 	 (1) liaTIftEr 	 

(2) Nuclear energy 	 (2) croTrol 4711 	

(3) Solar energy 	 (3) 	'e 	v1i  

(4) Wind energy 	 (4) Lr-q--4 

159. Exclusive rights of any idea or invention is 	159. N-Tft1 IW aram.  34115MIT ITT w)+-11i 34:4WR- 
known as : 	 rucwi 	: 

(1) Utility 	 (1) .3q44 	Dieu 

(2) Value 	 (2) 11,-,4 

(3) Patent 	 (3) 

(4) Resource 	 (4) TiTtivzq 

160. 'Sunrise' industry is the name given to the 	160. cr)1.-1 Tir 3u1+1 	̀1Wri7" 34141 	i 4 JIM' 

following industry : 	 .yncu 	? 

(1) Iron and steel industry 	 (1) x1161 pxiTa.  

(2) Cotton Textile industry 	 (2) TEA cr,(-i 	TaiTi 

(3) Automobile industry 	 (3) 3traTii-a* 3f.4141 

(4) Infcrmation 	 (4) TO-9T lft-IRI*1 
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161. Three factors that cause population change 	161. ,4-14,-H.941 *447 zt wITTNa-  eta clic; 419' TO:r 
are, 

(1) Birth rate, death rate and marriage 
	

(1) .71.41, IropT WelT 

(2) Birth rate, death rate and migration 
	

(2) ,71-4-iqi, Trar-  MIT WaRi 

(3) Birth rate, death and life expectancy 
	

(3) .Ti-4-1, Tr-  mrr ,r1r)cl.-1 ',1(4-1121-1 

(4) Migration, marriage and death rate 
	

(4) MIT, ic116 c TrTEITT 

162. Population pyramid of a country- also shows 
the proportion of dependent population to total 
population. Age pyramid of which of the 
following countries has a narrow base : 

162. ,111titS14.11 	.a.ql* 	altra.  chill A' *TAT 

1ft c4C1101 t 1 F 4 4 14),H 4st 
.(1 	3,TRITT tichti 

(1) Kenya 	 (2) India 	 (1) 4)141 	 (2) WM 

(3) Japan 	 (4) Pakistan 	 (3) '3w-U-1 	 (4) 414+(mi 

163. Which of the following is not a natural 	163. vt4 4 41 4t wredw rtit 41 t ? 
ecosystem ? 

(1) Desert 	 (2) Aquarium 	 (1) Trb---41TR 	 (2) MM.  

(3) Forest 	 (4) Grassland 	 (3) q9- 	 (4) Errfr-{Q. 

164. Which of the following is a depositional fea- 	164. ItTrqq- 	NOTTi 14,44i NTIwr g ? 
ture of a glacier ? 

(1) Beach 	 (2) Flood plain 

(3) Moraine 	 (4) Levees 

165. When temperature increases, the pressure is, 

(1) High 

(2) Low 

(3) Medium 

(4) Not affected by temperature. 

166. Which of the following layers of the 
atmosphere is important for transmission of 
radio waves ? 

(1) Troposphere 	(2) Stratosphere 

(3) Thermosphere 	(4) Exosphere 

(1 ) liNR. 	(2) lei 	 A-UT9.  

(3) i 	 (4) U7.-4-tt 

165. 	114111 '3W1 t 	414igle4, 	13E1T Wa.  

6 	? 

(1)  

(2) wi 

(3) littiff 

(4) ctivil 	ATIT4 (1144111 ITT qtf 6 	11 

166. 3i i-r i111,( 41* diq) 	N7 441 1,S(1 74)-  cl) 

4t ttTa.  IT6Krpf ? 

(1) 4.43Txt 	 (2) 	 

(3) tupi-isci 	 (4) 
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167. Minerals that lie near the surface are simply 	167. tic1, 	Wt..? fma.  ri*-Ai   Pit-ar 

	

dug out by which of the following process. 	 rsmi, 	sTucu- 	? 

(1) Open-cast mining 

(2) Shaft mining 

(3) Drilling 

(4) Quarrying 

168. What is Viticulture ? 

(1) Commercial rearing of silk worms 

(2) Breeding of fish in tanks and Ponds 

(3) Cultivation of grapes 

(4) None of the above. 

168. MT TN 	 q)6 	? 

(1) .gym 4041q-I 	IT 	sq4c.r) 

(2) Kr- Tql AT 14 4.544.1 jt 11-0z1 TR9- 

(3) :34.0 c't 	 

(4) p•  Al 4 co-1i 

169. Jharia in India is famous for the following ? 	169. 4TR-9* it vfttir cr) 	 Tft   5rDT t? 

(1) Coal mines 	 (1) q-;iticru 

(2) Iron ore mines 	 (2). z-4 3T=1

(3) Copper mines 	 (3) oisu 

(4) Limestone mines 	 (4) to! TNT 

170. From which book `Bande Mataram' has been 	170. 	4i1cV4-1: 14 	i 511* -  triT1W 4 frith Trzrr > ? 

taken ? 

(1) Gitanjali 

(2) Anandmath 

(3) Chitrangada 

(4) Parima!a 

171. Article 370 is related to which State r? 

(1) Andhra Pradesh 

(2) Meghalaya 

(3) Jammu and Kashmir 

(4) Sikkim  

171. ffrr 	ri 4 4 arvilq 370 w ?,r f  

(1) 3TRT 51.1 

(2) 	k.tritn 

(3) 79, w47111-  

(4) 	 
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172. Which of the following is the main basis for 172. 	th-.. fig 	arrcirdwra wlfda co,(.1 	11- isEr 
State Emergency ? 	 3TTQtt err 61-11 	? 

(1) War 

(2) External Aggression 

(3) Failure of Constitutional machinery in the 
State 

(4) Economic Crisis 

173. Which of the following article is linked to 
Right to Information ? 

(1) Article 45 	(2) Article 46 

(3) Article 21A 	(4) None of above  

(1) ziW 

(2) vi-6ft aTuTrirr 

(3) 	IsYq 	urfr-4 4fi 4-avirf4w fdggMm 

(4) WM' ticot 

173. To-9-r 	ATTT-{   394q 4 
? 

(1) aTvalq 45 
	

(2) 31-T,tiq 46 

(3) 3rltik4 21A 
	

(4) 	 4 4 	 -(g) 

174. Which of the following is related to Habeas 	174. ,34 	crm.4-ftw-fut 	TrzzrAT 	d 4 4 
Corpus ? 	 i*Tri4 ? 

(1) Right against Exploitation 	 (1) ftErcrr 	iM5W 31 TW7 

(2) Providing legal aid 	 (2) (111*--ft Trgrcra-t 

(3). Prisoners presented before the Court 	 (3) ni. ••1 (4,1 •r 4 3T-47-  wolf 

(4) Right to Liberty 	 (4) *rainy r 3ftwr 

175. What is the ratio of the reservation of seats 
for SC, ST and OBC ? 

(1) 15 : 7.5 : 27 

(2) 27 : 15 : 7.5 

(3) 7.5 : 27.5 : 15 

(4) None of above 

176. Which of the following right was a part of 
the. Fundamental Rights till 1.978 ? 

(1) Right to Constitutional remedies 

(2) Right to form association 

(3) Right against Exploitation 

(4) Right to Property  

175. Trrfff 	39-41%-d- 	, 	 3t1-4-  

	

1- t9i   3TATa" ifia T5T WITW: Wry 

3997 t ? 

(1) 15 : 7.5 : 27 

(2) 27 : 15 : 7.5 

(3) 7.5 : 27.5: 15 

(4) 	• 4 co 	 ri 

176. 1)4•1 	Nc1 3IRTWI 	col.-1 41-  aftwff 1978 
ffw 	Am-R-  %Tr ? 

(1) of 	34-41.1 qr 3tittTr-f 

(2) flic3,1 	

(3) qillsrur 	f=0- arf~r Tr 

(4) TiTcri* TT aliRTWFT 
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177. Which of the following part of the Constitu- 	177. 1.-&,IPAci -4 	ft411 4iNuF ctC1 3-1TRU cP6i 

tion is called conscience of the Constitution ? 	\ffidi 	? 

(1) Preamble; 	 (1) ukciRmi 

(2) Fundamental Rights; 	 (2) i:fifT 3TRTWF 

(3) Fundamental Duties; 	 (3) *kw w4--ar 

(4) Directive Principles of State Policy. 	 (4) 'thrLI 	411) 	RTW lccr 

Choose the correct answer from : 	 d > t Re 37-( 11-4cr 	: 

(1) 1 & 2 (2) 2 & 3 

(3) 2 & 4 (4) 2, 3 & 4 

(1) 	1 	3:1-1-4-  2 (2) 2 311-T 3 

(3) 2 3l 4 (4) 2, 3 	341--4-  4 

178. In Indian Citizens have been given right to 	178. wra- 	-11,Pcni 	Trff 	r aTfirwr-{ 
vote on the basis of ? 	 3T in- 	 TFIT g ? 

(1) Duration of Stay in the Country 	 (1) "qi- 	co4 l 3l4r 

(2) Education 	 (2) 5g-Tt 

(3) Property 	 (3) 411,4 

(4) Age 	 (4) aTfq 

179. The term 'Fourth Estate' refers to ? 	179. 	d 14-  '4f.err 	 q)6,1 g ? 

(I) Parliament 	 (1) 	 

(2) Judiciary 	 (2) -tutu-nismq)1 

(3) Supreme Court 	 (3)13--41— -t, 	,t4ititeitf 

(4) Press 	 (4) ix T 

180. In a village two villagers had heated 	180. Wt T114 	717fivii 	w`li z719.  
arguments whether common boundary of their   i'qmq ids Irtri 	 ,I)61 
fields had been shifted. For the land record   ? 
they will go to ? 

(1) Patwari 	 (1) crd-q-th 	trrg 

(2) Tehsildar 	 (2) 164logli 	trrg 

(3) Police 	 (3) 

(4) District Collector 	 (4) iZTI 	el I Cr)c cit'l 

.air 	-17). 

1 
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